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MISSING

Help Code : 033

LENGTHS FROM DIAGRAMS

m A stack of 20 identical boxes is 140cm tall.

Stefan takes three boxes off the top. N D‘t A
How tall is the stack now? aFtuaI
SiZe
140 cm

Show
your
method

e

2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino
Activities, Self-Marking Papers, One Page Wonders and new Tutorial
videos for last Summer’s SATs. Try it free press here!



https://www.youtube.com/watch?v=9SEw2DD2ma8
https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ
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This design has one large square

2009A KS2 Q24
and two identical small squares.

The design measures 36 centimetres by 28 centimetres.

S -

28cm

--— 36cm —l-
Calculate the length of a side of the large square

A\

Show
your working.
You may get
a mark.

cm

MISSING LENGTHS

Help Code : 033

FROM DIAGHAMS

Liam has two different sizes of rectangle.

45¢cm

«—20cm—

He makes this pattern with them

A Not
—!
‘ actual
B - size
A = cm

Calculate the lengths of A and B.
B=

cm

2011A KS2 Q25

Joe has two strips of card.
Each strip is 36 centimetres long.
One strip is divided into three equal parts.

The other strip is divided into four equal parts.

Not
actual
size

36cm

Y

A

Joe uses the two strips to make this shape.
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What is the total length of Joe's shape?

Show
your
working

e

cm



https://www.youtube.com/watch?v=nPYX5yeCdnY&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U
https://www.youtube.com/watch?v=k4sHG-73EOk&index=14&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw
https://www.youtube.com/watch?v=d4jITflDQTg&index=1&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV

2005A KS2 Q24 Josh has some tiles.

XX

Each tile is 10cm long.

| Calculate the length of five tiles fitted together.
|
|
|

:*-—1Dcm — \

Show

your working.
Two tiles fitted together are Yo:l] may get
18cm long. |
: cm
H—{‘I8cm 4—|

2003A KS2 Q11

Martin has some bricks.

They are 12cm long, 6cm high
and 6cm deep.

-~ ¥ 6cm Y
12cm
Each brick is 12cm long. '

He builds this tower with five bricks.

bcm i

Martin makes a line of bricks 132¢m long.

How tall is the tower? How many bricks does he use?

\-. cm \



https://www.youtube.com/watch?v=U8rEOT8TrmI&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=16
https://www.youtube.com/watch?v=soavBXIX4qs&list=PLS3PH82bo0VD3wOBNNCYB2d5Se1GGVyyI&index=1

2000A KS2 Q16

Kim has some rectangular tiles.
Each one is 4 centimetres by 9 centimetres.

9cm

She makes a design with them.

height

+——width——

Calculate the width and height of her design.

width = cm height = cm

2000A KS2 Q19

Liam has two rectangular tiles like this.

A
Tcm
Y
e B g
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He makes this L shape.

What is the perimeter of Liam’s L shape?

\[ -



https://www.youtube.com/watch?v=wBWsVmQ_XG0&index=5&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r
https://www.youtube.com/watch?v=AzCusfkmB_k&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r&index=8

